
08
-0

8-
19

 R
EV

.0
1

LeoVince Europe
leovince.com

info@leovince.com

LeoVince USA
leovince.com

infousa@leovince.com
+1-844-536-7625

  INFORMAZIONI TECNICHE 
  TECHNICAL INFORMATION

  INFORMATIONS TECHNIQUES
TECHNISCHE INFORMATIONEN 

INFORMACIONES TECNICAS

ART. 8099
KAT ELIMINATOR

YAMAHA MT-10 / MT-10 SP / FZ-10/MTN1000

TYPE: RN45 var.A ver.01 - RN45 - var.A ver.05 - RN45 var.B ver.01

 
i.52,5 

 
e.54 

 
e.54 

 120 

 
85 

 
e

.50 

 105 

Pipe N° 1244
Cod. 308099201

3 Knurled Nut M8
Cod. 200298

2 Strap-in Stainless 
steel Ø57
Cod. 300057530

2 "OPTIONAL"
Cod.5683

Allen screw M8X45 
T.C.E.I. Z.B. 
Cod.201450

Plain washer 8 x 24  
Cod.200321

Plain washer 
8 x 17   

Cod.200294

Aluminium spacer
ø27X8,5X11 
Cod. 204321

Alluminium bracket
Cod.308099501
Cod.206501

Allen screw M8X20 
T.C.E.I. Z.B. 
Cod.200722

Allen screw M8X25 
T.C.E.I. Z.B. 
Cod.200314

Warning:
Remove original bushing

SILENZIATORE ORIGINALE
STOCK SILENCER
OR
LEOVINCE SILENCER ART. 15201-15201B-15201T 

ART. 8099 YAMAHA MT10/MT-10 SP / FZ-10 / MTN1000 
Collettore INOX / Stainless steel header pipe

per l'eliminazione del catalizzatore originale / kat eliminator link pipe

- Disconnect the control cables from the exhaust valve on the actuator side; 
   by removing the original link pipe with the catalytic converter, 

  also the valve connected to the link pipe and the cables are removed. 
  The valve’s servo motor should not be removed or disconnected.

WARNING   

   - Fitting the cat eliminator it is advisable to optimize the carburation by remapping 
  the stock ECU or by adopting an additional ECU unit.

 
i.52,5 

 
e.54 

 
e.54 

 120 

 
85 

 
e.50 

 105 

Manifold Kit
Cod. 308099202R

2 Manifold clamp kit Ø57
Cod. 300057530R

2 "OPTIONAL"
Cod.5683

Warning:
Remove original bushing

A A

AAA

A

A

A A

A

ART. 8099 SPARE PARTS

YAMAHA  MT-10 / MT-10 SP / FZ-10 / MTN1000  '16 - '18

A  FITTING KIT Cod. 308099601R


